
 

6

3 4

1

6

4

3

1

5

2

 ITEM # DESCRIPTION QTY
 1 WELDMENT, BW FIFTH WHEEL ADAPTER 1
 2 PIN SLEEVE, B&W FIFTH WHEEL RAIL ADAPTER 1
 3 LOCKWASHER, B&W FIFTH WHEEL RAIL ADAPTER 1
 4 SCREW, 5/8"-11 X 4-1/4", HEX CAP, FULL THD, GRADE 8 1
 5 SCREW, 5/16"-18 X 1/2", SHCS 1
 6 SCREW, 1/4-20 x 5/8, BHSCS 1
 7 LOCKWASHER, 1/4", SPLIT, STEEL, ZP 1

ITEM
NO. DESCRIPTION QTY.

1 WELDMENT, BW FIFTH WHEEL ADAPTER 1

2 PIN SLEEVE, B&W FIFTH WHEEL RAIL ADAPTER 1

3 LOCK WASHER, B&W FIFTH WHEEL RAIL ADAPTER 1

4 SCREW, 5/8"-11 X 4-1/4", HEX CAP, FULL THD,
GRADE 8, ZP 1

5 SCREW, 5/16"-18 X 1/2", SHCS, SS 1
6 SCREW, BHSCS, 1/4-20 x 5/8, ZINC PLATED 1

7 LOCKWASHER, 1/4", SPLIT, STEEL, ZP 1

A

ASECTION A-A

6

7

4

3

6
7 4

3

1

1

5

2

ITEM
NO. DESCRIPTION QTY.

1 WELDMENT, BW FIFTH WHEEL ADAPTER 1

2 PIN SLEEVE, B&W FIFTH WHEEL RAIL ADAPTER 1

3 LOCK WASHER, B&W FIFTH WHEEL RAIL ADAPTER 1

4 SCREW, 5/8"-11 X 4-1/4", HEX CAP, FULL THD,
GRADE 8, ZP 1

5 SCREW, 5/16"-18 X 1/2", SHCS, SS 1
6 SCREW, BHSCS, 1/4-20 x 5/8, ZINC PLATED 1

7 LOCKWASHER, 1/4", SPLIT, STEEL, ZP 1

A

ASECTION A-A

6

7

4

3

6
7 4

3

1

1

5

2

B &W Bed Hole
Adapter

ITEM
NO. DESCRIPTION QTY.

1 WELDMENT, BW FIFTH WHEEL ADAPTER 1

2 PIN SLEEVE, B&W FIFTH WHEEL RAIL ADAPTER 1

3 LOCK WASHER, B&W FIFTH WHEEL RAIL ADAPTER 1

4 SCREW, 5/8"-11 X 4-1/4", HEX CAP, FULL THD,
GRADE 8, ZP 1

5 SCREW, 5/16"-18 X 1/2", SHCS, SS 1
6 SCREW, BHSCS, 1/4-20 x 5/8, ZINC PLATED 1

7 LOCKWASHER, 1/4", SPLIT, STEEL, ZP 1

A

A

A

A

SECTION A-A

6

7

4

3

6
7 4

3

1

1

5

2

ITEM
NO. DESCRIPTION QTY.

1 WELDMENT, BW FIFTH WHEEL ADAPTER 1

2 PIN SLEEVE, B&W FIFTH WHEEL RAIL ADAPTER 1

3 LOCK WASHER, B&W FIFTH WHEEL RAIL ADAPTER 1

4 SCREW, 5/8"-11 X 4-1/4", HEX CAP, FULL THD,
GRADE 8, ZP 1

5 SCREW, 5/16"-18 X 1/2", SHCS, SS 1
6 SCREW, BHSCS, 1/4-20 x 5/8, ZINC PLATED 1

7 LOCKWASHER, 1/4", SPLIT, STEEL, ZP 1

A

A

A

A

SECTION A-A

6

7

4

3

6
7 4

3

1

1

5

2

Item name: B&W BedHole Adapter Instructions
Drawing#: 1018722
Colors: 1/0 (Black)
Coating: no
Size: 8.5" x 11"
Die cut: no
Stock: 20 lb bond
UPC: N/A
Notes: N/A
Rev #: 1
Date Released: #219

PRINTING INFORMATION 
(Do not Print) 印刷资料 (不打印）

No intentional introduction of Lead (Pb), Cadmium (Cd), Hexavalent 
Chrome and Mercury (Hg) allowed in manufacture of this packaging 
material. The sum of the concentration levels incidentally introduced 
not to exceed 100 PPM by weight.

CD895127 1018722R 48555 B&W BedHole Adapter Instructions.indd   1 2/18/19   5:05 PM


